10%2" Extended Hanger Bolt | QMC-EHB10.5

ITEM
NO. DESCRIPTION QTY.
1 HANGER BOLT, 5/16"x10-1/2", 1-3/4"MT, 3'LT, 18-8 §S 1
2 | WASHER, SEALING, 5/1¢"ID X 3/4" OD, EPDM BONDED S$S 1
3 NUT, HEX, 5/16-18, UNC-2B, 18-8 S§S 2
4 WASHER, FLAT, 19/64"ID x 7/8" OD x 1/8" EPDM 1
5 WASHER, FENDER, 5/16"ID X 1" OD, 18-8 S§ 1
6 WASHER, SPLIT-LOCK, 5/16"ID, 18-8 SS 1
Quick Mount PV*
TITLE:
QMC-EHB10.5: QM-HARDWARE SET,
5/16"x10-1/2"
UNLESS OTHERWISE SPECIFIED: SIZE DRAWN BY: RAD REV
DIMENSIONS ARE IN INCHES :
PROPRIETARY AND CONFIDENTIAL ::S:ECRT/I\ONEAEE: 8 A DATE: 3/9/201 ‘ ]
B e PONOTSCAEORANNG | 1y SIACE DECIMAL +125 | SCALEI12 | WEGHE02] | SHEET1 OF |
5 4 3 2 1

WARNING: Quick Mount PV products are NOT designed for and should NOT be used to anchor fall protection equipment.

Quick Mount PV

RESPECT THE ROOF
925-478-8269 | www.quickmountpv.com | info@quickmountpv.com

2700 Mitchell Dr., Bldg 2 | Walnut Creek, CA 94598

Bl 7.2.3-29_21 May-2014, Rev 1

© 2014 by Quick Mount PV. All rights reserved.



